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o it BENE | BAE | BOE | BAE | BOE | BAE | CORAEBRH R HR
HAFAE 0.04 0.06 0.04 0.06 0.04 0.06)-y-fHE. BYET. LiFPR 5
2B E 0.04 0.05 0.04 0.05 0.04 0.05(7 3vaF. KEHTF. KB VT 5
31K E 0.05 0.09 0.05 0.09 0.05 0. 09|P A OO0 (It BRFH) 10
AITHTHRENE 0.05 0.07 0.05 0.07 0.05 0.07({F=23-PAOY V-7 5
S| E 0.05 0.07 0.05 0.07 0.05 0.07|7" 33 F 5
N ES=NE 0.05 0.05 0.05 0.05 0.05 0.05(2R4 v FREIE 5
L e N 0.04 0.05 0.04 0.05 0.04 0.05|fbi5. A" VFF 5
8| BTN LE 0.04 0.07 0.04 0.07 0.04 0.07|FIMVAL 5
IEREDE 0.05 0.06 0.05 0.06 0.05 0.06|5E /&I, WEI)7KER 5
10| 2EALLEAE 0.05 0.05 0.05 0.05 0.05 0.05(2R4 v FREIE 5
N25FE=E 0.05 0.05 0.05 0.05 0.05 0.05(2R4 > FREITE 5
12| ERZENE 0.06 0.07 0.06 0.07 0.06 0.07|~ vran(Fa) . BYAT. R 5
13| RE14= 0.06 0.06 0.06 0.06 0. 06 0.06|2R4 > rREIE 5
14|40 'R El22% 0.05 0.05 0.05 0.05 0.05 0.05(2R4 > FREITE 5
15|40 'R El25% 0.05 0.06 0.05 0.06 0.05 0.06[27 Vv #EB. N VFF. HEkH 5
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